Review Sheet for Assessment #2 Answers
I.  Photosynthesis Review


6CO2 + 6H2O + sunlight ( C6H12O6 + 6O2



Reactants



Products



   6CO2



C6H12O6



   6H2O



O2



        




   Sunlight

-Photosynthesis produces food for plants by converting sunlight energy into chemical energy (glucose) for plants

Graphs

-Graph A is illustrating that as light intensity increases, the rate of photosynthesis will also increase until all enzymes are active and the rate can not increase because photosynthesis can not occur any faster

-Graph B shows an optimum temperature for the rate of photosynthesis because of the optimum temperature for the enzymes involved

II.  Cell Respiration


C6H12O6 + 6O2 ( 6CO2 + 6H2O + ATP



Reactants



Products



   C6H12O6


  
 6CO2



     6O2



   6H2O








    ATP

-Cell respiration is the process in which chemical energy (glucose) is converted into cellular energy (ATP) so that cells can carry out necessary process for survival

-Eukaryotes:  cytoplasm and Mitochondria

-Prokaryotes:  cytoplasm
-Yeast undergo anaerobic cellular respiration.  More specifically, alcoholic fermentation, the products of which are ethanol and CO2


CO2 gas is produced by yeast and causes dough to rise.


Anaerobic Respiration


Aerobic Respiration



Glycolysis




Glycolysis

Lactic Acid Fer.
Alcoholic Fer.


 Kreb’s Cycle

Produces: LA

   Ethanol/CO2

ETC








Produces: ATP

III.
(Photosynthesis) Sunlight ( glucose (O2 is released)


(Cell Respiration) Glucose ( ATP (CO2 and H2O are released)

IV.  Chemosynthesis

Converting chemicals (Hydrogen Sulfide) into nutrients (glucose) and organic matter.

Answer: B -  Bacteria converting chemicals (Hydrogen sulfide into carbon compounds – Glucose)
V.  Cell Transport

Beaker 1 – 0% Sugar Solution


Because potatoes contain glucose and other monosaccharides, the concentration of water is lower than the environment; therefore, water will diffuse into the potato cells.  This describes a hypotonic environment.

Beaker 2 – 20% Sugar Solution and Beaker 3 – 50% Sugar Solution


Answers may vary but depending on the mass of the potato core, if the mass increased, then water moved in, therefore ( hypotonic.


If the mass decreased then water moved out of the potato cells ( hypertonic

Beaker 4 – 75% Sugar Solution


Because the concentration of water is so high in the environment of the potato cores, water moved out of the potato cells.  This environment is hypertonic.

Osmosis – water moving from an area of high concentration to an area of low concentration across a semi-permeable membrane, without the use of energy

Diffusion – movement of molecules across a membrane from an area of high concentration to an area of low concentration, without the use of energy

Active transport – molecules move against the concentration gradient or the molecules being moved are much larger.  These processes require the use of ATP and other forms of cellular energy.

VI.  Cell Organelle and Function

Ribosomes

ER

Vacuole – different in plant/animal cells

Mitochondria

Cytoplasm

Centrioles

Cilia

Golgi apparatus

Nucleolus

Lysozomes

Nucleus

Flagella

Chloroplast

Cell membrane

Cell wall – composed of proteins and cellulose (sugar)
